



ON THE SUPERSTABILITY FOR THE p -POWER-RADICAL SINE FUNCTIONAL EQUATION

Gwang Hui Kim

Department of Mathematics, Kangnam University,
40, Gangnam-ro, Giheung-gu, Yongin, Gyeonggi, 16979, Korea
e-mail: ghkim@kangnam.ac.kr

Abstract. In this paper, we investigate the superstability for the p -power-radical sine functional equation

$$f\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - f\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 = f(x)f(y)$$

from an approximation of the p -power-radical functional equation:

$$f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) = \lambda g(x)h(y),$$

where p is an odd positive integer and f, g, h are complex valued functions. Furthermore, the obtained results are extended to Banach algebras.

1. INTRODUCTION

In 1940, the stability problem of the functional equation was conjectured by Ulam [27]. In next year, Hyers [13] obtained a partial answer for the case of the additive mapping in this problem: If f satisfies $|f(x+y) - f(x) - f(y)| \leq \varepsilon$ for some fixed $\varepsilon > 0$, then f satisfies the additive mapping $f(x+y) = f(x) + f(y)$, which is called the Hyers-Ulam stability.

In 1979, Baker *et al.* [6] announced the superstability as the new concept as follows: If f satisfies $|f(x+y) - f(x)f(y)| \leq \varepsilon$ for some fixed $\varepsilon > 0$, then either f is bounded or f satisfies the exponential functional equation $f(x+y) = f(x)f(y)$.

⁰Received December 26, 2022. Revised February 22, 2023. Accepted February 25, 2023.

⁰2020 Mathematics Subject Classification: 39B82, 39B52.

⁰Keywords: Stability, superstability, p -power-radical equation, sine functional equation, cosine functional equation, trigonometric equation.

D'Alembert [1] in 1769 (see Kannappen's book [14]) introduced the cosine (d'Alembert) functional equation

$$f(x+y) + f(x-y) = 2f(x)f(y), \quad (C)$$

and whose superstability was proved on Abelian group by Baker [5] in 1980.

Badora [3] in 1998 generalized Baker's result to a noncommutative group, and it again was improved by Badora and Ger [4] in 2002 under the condition $|f(x+y) + f(x-y) - 2f(x)f(y)| \leq \varphi(x)$ or $\varphi(y)$ (Găvruta sense).

The cosine (d'Alembert) functional equation (C) was generalized to the following:

$$f(x+y) + f(x-y) = 2f(x)g(y), \quad (W)$$

$$f(x+y) + f(x-y) = 2g(x)f(y), \quad (K)$$

in which (W) is called the Wilson equation, and (K) was arisen by Kim [15]. The superstability of the cosine (C), Wilson (W) and Kim (K) functional equations was founded in Badora [3], Ger [4], Kannappan and Kim [15], and Kim [21, 22, 25] (see [7, 11, 26]).

Due to the trigonometric formula 'sin(x+y) - sin(x-y) = 2 cos(x) sin(y)' and 'cos(x+y) - cos(x-y) = 2 sin(x)(-sin(y)) = -2 sin(x) sin(y)' arise the functional equations $f(x+y) - f(x-y) = 2g(x)f(y) := (-gf)$ and $f(x+y) - f(x-y) = -2g(x)g(y) = 2g(x)h(y) := (-gh)$.

For other applications: hyperbolic trigonometric functions, several exponential functions, and alternative Jensen equation are as follows:

$$\begin{aligned} \cosh(x+y) - \cosh(x-y) &= 2 \sinh(x) \sinh(y), \\ \sinh(x+y) - \sinh(x-y) &= 2 \cosh(x) \sinh(y), \\ e^{x+y} - e^{x-y} &= 2 \frac{e^x}{2} (e^y - e^{-y}) = 2e^x \cosh(y), \\ n(x+y) - n(x-y) &= 2ny : \text{for } f(x) = nx. \end{aligned}$$

In 1983, Cholewa [9] investigated the superstability of the sine functional equation

$$f\left(\frac{x+y}{2}\right)^2 - f\left(\frac{x-y}{2}\right)^2 = f(x)f(y) \quad (S)$$

under the condition bounded by constant. His result was improved by Kim ([17, 20]), namely, the generalized sine functional equation

$$f\left(\frac{x+y}{2}\right)^2 - f\left(\frac{x-y}{2}\right)^2 = g(x)h(y) \quad (S_{gh})$$

of (S) is superstable under the condition bounded by a constant or a function.

In 2009, Eshaghi Gordji and Parviz [12] introduced the radical functional equation

$$f(\sqrt{x^2 + y^2}) = f(x) + f(y) \tag{R}$$

related to the additive mapping, proved its stability.

Recently, Almahalebi *et al.* [2] and Kim [24] obtained the superstability in Hyers' sense for the p -power-radical functional equations as follows:

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = 2f(x)f(y), \tag{C^r}$$

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda f(x)f(y), \tag{C_\lambda^r}$$

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda f(x)g(y), \tag{W_\lambda^r}$$

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda g(x)f(y), \tag{K_\lambda^r}$$

which are related to cosine (d'Alembert) equation (C), Wilson equation (W) and Kim's equation (K).

The p -radical form of the sine functional equation (S) is represented by

$$f\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - f\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 = f(x)f(y). \tag{S^r}$$

Since the function $f(x) = \sin x^p$ is the solution of the equation (S^r), in this paper, this equation is reasonably called the p -power-radical sine functional equation.

The aim of this paper is to investigate the superstability for the p -power-radical sine functional equation (S^r) from an approximation of the p -power-radical functional equation:

$$f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) = \lambda g(x)h(y) \tag{-gh_\lambda^r}$$

related to (-gh). Furthermore, the obtained results are extended to Banach algebras.

In this paper, let \mathbb{R} be the field of real numbers, $\mathbb{R}_+ = [0, \infty)$ and \mathbb{C} be the field of complex numbers. We may assume that f, g, h are nonzero functions, ε is a nonnegative real number, $\varphi : \mathbb{R} \rightarrow \mathbb{R}_+$ is a given nonnegative function and p is an odd positive integer.

2. SUPERSTABILITY FOR THE p -POWER-RADICAL SINE FUNCTIONAL EQUATION

In this section, we investigate the superstability in Găvruta's sense for p -power-radical sine functional equation (S^r).

Theorem 2.1. Assume that $f, g, h : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)h(y)| \leq \varphi(x). \quad (2.1)$$

Then, either h (with $g(0) = 0$ or $f(x) = f(-x)$) is bounded or g satisfies (S^r) . In particular, if h satisfies $(-ff_\lambda^r)$, then g and h satisfy (W_λ^r) .

Proof. Assume that h with $g(0) = 0$ is unbounded. Then we can choose $\{y_n\}$ such that $0 \neq |h(y_n)| \rightarrow \infty$ as $n \rightarrow \infty$.

Putting $y = y_n$ in (2.1) and dividing both sides by $\lambda h(y_n)$, we have

$$\left| \frac{f(\sqrt[p]{x^p + y_n^p}) - f(\sqrt[p]{x^p - y_n^p})}{\lambda h(y_n)} - g(x) \right| \leq \frac{\varphi(x)}{\lambda h(y_n)}. \quad (2.2)$$

As $n \rightarrow \infty$ in (2.2), we get

$$g(x) = \lim_{n \rightarrow \infty} \frac{f(\sqrt[p]{x^p + y_n^p}) - f(\sqrt[p]{x^p - y_n^p})}{\lambda h(y_n)} \quad (2.3)$$

for all $x \in \mathbb{R}$. Replacing y by $\sqrt[p]{y^p + y_n^p}$ and $\sqrt[p]{y^p - y_n^p}$ in (2.1), we obtain

$$\begin{aligned} & \left| f(\sqrt[p]{x^p + (y^p + y_n^p)}) - f(\sqrt[p]{x^p - (y^p + y_n^p)}) - \lambda g(x)h(\sqrt[p]{y^p + y_n^p}) \right| \leq \varphi(x), \\ & \left| f(\sqrt[p]{x^p + (y^p - y_n^p)}) - f(\sqrt[p]{x^p - (y^p - y_n^p)}) - \lambda g(x)h(\sqrt[p]{y^p - y_n^p}) \right| \leq \varphi(x), \end{aligned}$$

for all $x, y, y_n \in \mathbb{R}$.

Then, it implies that

$$\begin{aligned} & \left| \frac{f(\sqrt[p]{x^p + (y^p + y_n^p)}) - f(\sqrt[p]{x^p + (y^p - y_n^p)})}{\lambda h(y_n)} \right. \\ & \quad \left. + \frac{f(\sqrt[p]{x^p - (y^p - y_n^p)}) - f(\sqrt[p]{x^p - (y^p + y_n^p)})}{\lambda h(y_n)} \right. \\ & \quad \left. - \lambda g(x) \frac{h(\sqrt[p]{y^p + y_n^p}) - h(\sqrt[p]{y^p - y_n^p})}{\lambda h(y_n)} \right| \leq \frac{2\varphi(x)}{\lambda h(y_n)} \end{aligned} \quad (2.4)$$

for all $x, y, y_n \in \mathbb{R}$. In (2.4), taking the limit as $n \rightarrow \infty$ and by (2.3), we conclude that, for every $x \in \mathbb{R}$, there exists the limit

$$L_1(y) := \lim_{n \rightarrow \infty} \frac{h(\sqrt[p]{y^p + y_n^p}) - h(\sqrt[p]{y^p - y_n^p})}{\lambda h(y_n)}, \quad (2.5)$$

where the obtained function $L_1 : \mathbb{R} \rightarrow \mathbb{C}$ satisfies the equation

$$g(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) = \lambda g(x)L_1(y), \quad \forall x, y \in \mathbb{R}. \quad (2.6)$$

First, let us consider the case $g(0) = 0$. Then it forces by (2.6) that g is odd. Putting $y = x$ in (2.6), we get

$$g(\sqrt[p]{2}x) = g(x)L_1(x), \quad \forall x \in \mathbb{R}. \tag{2.7}$$

From (2.6), the oddness of g and (2.7), we obtain the equation

$$\begin{aligned} g(\sqrt[p]{x^p + y^p})^2 - g(\sqrt[p]{x^p - y^p})^2 &= g(x)L_1(y)[g(\sqrt[p]{x^p + y^p}) - g(\sqrt[p]{x^p - y^p})] \\ &= g(x)[g(\sqrt[p]{x^p + 2y^p}) - g(\sqrt[p]{x^p - 2y^p})] \\ &= g(x)[g(\sqrt[p]{2y^p + x^p}) + g(\sqrt[p]{2y^p - x^p})] \\ &= g(x)g(\sqrt[p]{2}y)L_1(x) \\ &= g(\sqrt[p]{2}x)g(\sqrt[p]{2}y), \end{aligned} \tag{2.8}$$

that holds true for all $x, y \in \mathbb{R}$. Putting $x = \frac{x}{\sqrt[p]{2}}$ and $y = \frac{y}{\sqrt[p]{2}}$ in (2.8), we get nothing else but (S^r) .

For next case $f(-x) = f(x)$, it is enough to show that $g(0) = 0$. Suppose that this is not the case. Then in what follows, without loss of generality, we may assume that $g(0) = c$: constant. Putting $x = 0$ in (2.1), from the above assumption, we obtain the inequality

$$|h(y)| \leq \frac{\varphi(0)}{|\lambda c|}, \quad \forall y \in G.$$

This inequality means that h is globally bounded which is a contradiction by unboundedness assumption. Thus the claimed $g(0) = 0$ holds.

In particular, if h satisfies $(-ff_\lambda^r)$, from (2.5) and (2.6), g and h satisfy (W_λ^r) . Hence, the proof of the theorem is completed. \square

Theorem 2.2. *Assume that $f, g, h : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality*

$$|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)h(y)| \leq \varphi(y). \tag{2.9}$$

Then, either g (with $h(0) = 0$) is bounded or h satisfies (S^r) . In particular, if g satisfies (C_λ^r) , then h and g satisfy (W_λ^r) .

Proof. Assume that g is unbounded. Then we can choose $\{x_n\}$ such that $0 \neq |g(x_n)| \rightarrow \infty$ as $n \rightarrow \infty$. In (2.9), we deduce

$$h(y) = \lim_{n \rightarrow \infty} \frac{f(\sqrt[p]{x_n^p + y^p}) - f(\sqrt[p]{x_n^p - y^p})}{\lambda g(x_n)} \tag{2.10}$$

for all $y \in \mathbb{R}$.

Replace (x, y) by $(\sqrt[p]{x_n^p + y^p}, x)$ and replace (x, y) by $(\sqrt[p]{x_n^p - y^p}, x)$ in (2.9). Let's go through the same procedure as Theorem 2.1. Then we obtain

$$\begin{aligned} & \left| \frac{f\left(\sqrt[p]{x_n^p + y^p}\right) - f\left(\sqrt[p]{x_n^p - y^p}\right)}{\lambda g(x_n)} \right. \\ & + \frac{f\left(\sqrt[p]{x_n^p - y^p}\right) - f\left(\sqrt[p]{x_n^p + y^p}\right)}{\lambda g(x_n)} \\ & \left. - \lambda \frac{g\left(\sqrt[p]{x_n^p + y^p}\right) + g\left(\sqrt[p]{x_n^p - y^p}\right)}{\lambda g(x_n)} h(x) \right| \leq \frac{2\varphi(x)}{\lambda g(x_n)}. \end{aligned} \quad (2.11)$$

Taking the limit as $n \rightarrow \infty$ with the use of $|g(x_n)| \rightarrow \infty$ in (2.11), we conclude that, for every $x \in \mathbb{R}$, there exists the limit

$$L_2(y) := \frac{g\left(\sqrt[p]{x^p + y^p}\right) + g\left(\sqrt[p]{x^p - y^p}\right)}{\lambda g(x)}, \quad (2.12)$$

where the obtained function $L_2 : \mathbb{R} \rightarrow \mathbb{C}$ satisfies the equation

$$h\left(\sqrt[p]{x^p + y^p}\right) + h\left(\sqrt[p]{x^p - y^p}\right) = \lambda h(x)L_2(y), \quad \forall x, y \in \mathbb{R}. \quad (2.13)$$

In which, (2.13) is none other than (2.6). So, the remainder of the proof goes through the same procedure as in (2.7) and (2.8) of Theorem 2.1. \square

The following corollaries follow from Theorems 2.1 and 2.2.

Corollary 2.3. *Assume that $f, g : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality*

$$|f\left(\sqrt[p]{x^p + y^p}\right) - f\left(\sqrt[p]{x^p - y^p}\right) - \lambda g(x)g(y)| \leq \varphi(x).$$

Then, either g (with $g(0) = 0$ or $f(-x) = -f(x)$) is bounded or g satisfies (S^r) .

Corollary 2.4. *Assume that $f, g : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality*

$$|f\left(\sqrt[p]{x^p + y^p}\right) - f\left(\sqrt[p]{x^p - y^p}\right) - \lambda g(x)g(y)| \leq \varphi(y).$$

Then, either g (with $g(0) = 0$) is bounded or g satisfies (S^r) .

Corollary 2.5. *Assume that $f, g : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality*

$$|f\left(\sqrt[p]{x^p + y^p}\right) - f\left(\sqrt[p]{x^p - y^p}\right) - \lambda g(x)g(y)| \leq \varepsilon.$$

Then, either g (with $g(0) = 0$ or $f(-x) = -f(x)$) is bounded or g satisfies (S^r) .

Corollary 2.6. ([23, Theorem 1]) *Assume that $f, g : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality*

$$|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)f(y)| \leq \begin{cases} (i) & \varphi(x), \\ (ii) & \varphi(y) \text{ and } \varphi(x). \end{cases} \quad (2.14)$$

Then

- (i) either f is bounded or g satisfies (C_λ^r) ,
- (ii) either g is bounded or g satisfies (C_λ^r) , and f and g satisfy (K_λ^r) and (W_λ^r) .

Proof. (i) By replacing h to f in (2.1) of Theorem 2.1, and replacing y by $\sqrt[p]{y^p + y_n^p}$ and $\sqrt[p]{y^p - y_n^p}$ in (2.1), then, by considering equations and inequalities (2.2) \sim (2.6), it forces that the limit L_1 of (2.5) is none other than g . Hence it follows from (2.6) that g satisfies (C_λ^r) .

(ii) First, we can show that f (or g) is bounded if and only if g (or f) is bounded (see [23, Theorem 1]).

Hence, in the case $\varphi(y)$, by (i), that g also satisfies (C_λ^r) .

Then we can choose $\{x_n\}$ and $\{y_n\}$ such that $0 \neq |g(x_n)| \rightarrow \infty$ and $0 \neq |f(y_n)| \rightarrow \infty$ as $n \rightarrow \infty$, simultaneously. Replace h to f in (2.9) of Theorem 2.2.

(a) For $\varphi(x)$ in (ii) of (2.14), replace y by $\sqrt[p]{y^p + y_n^p}$ and $\sqrt[p]{y^p - y_n^p}$.

(b) For $\varphi(y)$ in (ii) of (2.14), replace (x, y) by $(\sqrt[p]{x_n^p + y^p}, x)$, and replace (x, y) by $(\sqrt[p]{x_n^p - y^p}, x)$.

By considering equations and inequalities (2.10) \sim (2.13), and by applying of the result (i), it forces that the limit L_2 of (2.12) is none other than g . g satisfies (C_λ^r) .

Finally, the replaced $f = h$ in (2.6) with limit $L_1 = g$, and the replaced $f = h$ in (2.13) with limit $L_2 = g$ force that g and f satisfy the required (K_λ^r) and (W_λ^r) . \square

The following corollary also holds by the same logic as in Corollary 2.6.

Corollary 2.7. ([23, Theorem 2]) *Assume that $f, g : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality*

$$|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda f(x)g(y)| \leq \begin{cases} (i) & \varphi(y), \\ (ii) & \varphi(x) \text{ and } \varphi(y). \end{cases}$$

Then

- (i) either f (with f :odd) is bounded or g satisfies $(-ff_\lambda^r)$,
- (ii) either g (with f :odd) is bounded or g satisfies $(-ff_\lambda^r)$, and f and g satisfy $(-fg_\lambda^r)$.

Corollary 2.8. *Assume that $f : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality*

$$|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda f(x)f(y)| \leq \begin{cases} (i) \varphi(x), \\ (ii) \varphi(y), \\ (iii) \varepsilon. \end{cases}$$

Then either f (odd) is bounded or f satisfies $(-ff_\lambda^r)$.

Remark 2.9. In obtained results, by applying $p = 1$ or $\lambda = 2$, and replacing g or h to g or f , each cases arrive the sine, cosine, Wilson, Kim, variety trigonometric, exponential, hyperbolic sine(cosine), Jensen equations, etc. (S) , $(-ff_\lambda)$, $(-fg_\lambda)$, $(-gf_\lambda)$, $(-gg_\lambda)$, $(-gh_\lambda)$, $(-ff_\lambda^r)$, $(-fg_\lambda^r)$, $(-gf_\lambda^r)$, $(-gg_\lambda^r)$, $(-gh_\lambda^r)$. Hence, we obtain the stability of Hyers-Ulam with $\varphi(x), \varphi(y) = \varepsilon$ and Gávruta sense for the derived functional equations.

Namely, the applied results appear in many papers (Badora [3], Badora and Ger [4], Baker [5], Fassi, et al. [10], Kannappan and Kim [15], Kim [16, 18, 21, 22, 24], and Almahalebi, et al. [2]), etc.

The above noted equations are as follows:

$$\begin{aligned} f(x + y) - f(x - y) &= \lambda f(x)f(y), & (-ff_\lambda) \\ f(x + y) - f(x - y) &= \lambda f(x)g(y), & (-fg_\lambda) \\ f(x + y) - f(x - y) &= \lambda g(x)f(y), & (-gf_\lambda) \\ f(x + y) - f(x - y) &= \lambda g(x)g(y), & (-gg_\lambda) \\ f(x + y) - f(x - y) &= \lambda g(x)h(y), & (-gh_\lambda) \\ f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) &= \lambda f(x)f(y), & (-ff_\lambda^r) \\ f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) &= \lambda f(x)g(y), & (-fg_\lambda^r) \\ f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) &= \lambda g(x)f(y), & (-gf_\lambda^r) \\ f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) &= \lambda g(x)g(y), & (-gg_\lambda^r) \\ f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) &= \lambda g(x)h(y), & (-gh_\lambda^r) \end{aligned}$$

3. EXTENSION TO BANACH ALGEBRAS

All the results in Section 2 can be extended to Banach algebras. Since the same applies to all results, Theorems 2.1 and 2.2 are only grouped together and the rest of the results will be omitted.

Theorem 3.1. *Let $(E, \|\cdot\|)$ be a semisimple commutative Banach algebra. Assume that $f, g, h : \mathbb{R} \rightarrow E$ satisfy the inequality*

$$\|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)h(y)\| \leq \begin{cases} (i) \varphi(x), \\ (ii) \varphi(y). \end{cases} \tag{3.1}$$

Let $z^* \in E^*$ be an arbitrary linear multiplicative functional. Then

- (i) if $z^* \circ h$ with $g(0) = 0$ is unbounded, then g satisfies (S^r) ,
- (ii) if $z^* \circ g$ with $h(0) = 0$ is unbounded, then h satisfies (S^r) .

Proof. (i) Assume that (3.1) holds and let $z^* \in E^*$ be a linear multiplicative functional. Since $\|z^*\| = 1$ for all $x, y \in \mathbb{R}$, we have

$$\begin{aligned} \varphi(x) &\geq \|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)h(y)\| \\ &= \sup_{\|w^*\|=1} |w^*(f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)h(y))| \\ &\geq |z^*(f(\sqrt[p]{x^p + y^p})) - z^*(f(\sqrt[p]{x^p - y^p})) - \lambda \cdot z^*(g(x)) \cdot z^*(h(y))|, \end{aligned}$$

which states that the superpositions $z^* \circ g$ and $z^* \circ h$ yield solutions of the inequalities (2.1) in Theorem 2.1. Hence, we can apply to Theorem 2.1.

Since, by assumption, the superposition $z^* \circ h$ with $g(0) = 0$ is unbounded, an appeal to Theorem 2.1 shows that the superposition $z^* \circ g$ is a solution of (S^r) , that is,

$$(z^* \circ g) \left(\sqrt[p]{\frac{x^p + y^p}{2}} \right)^2 - (z^* \circ g) \left(\sqrt[p]{\frac{x^p - y^p}{2}} \right)^2 = \lambda(z^* \circ g)(x)(z^* \circ g)(y).$$

This means by a linear multiplicativity of z^* that the differences

$$\mathcal{D}S^r(x, y) := g \left(\sqrt[p]{\frac{x^p + y^p}{2}} \right)^2 - g \left(\sqrt[p]{\frac{x^p - y^p}{2}} \right)^2 - g(x)g(y)$$

falls into the kernel of z^* . That is, $z^*(\mathcal{D}S^r(x, y)) = 0$. Hence an unrestricted choice of z^* implies that

$$\mathcal{D}S^r(x, y) \in \bigcap \{ \ker z^* : z^* \in E^* \}.$$

Since the space E is a semisimple, $\bigcap \{ \ker z^* : z^* \in E^* \} = 0$, which means that g satisfies the claimed equation (S^r) .

(ii) By assumption, the superposition $z^* \circ g$ with $h(0) = 0$ is unbounded, an appeal to Theorem 2.2 shows that the results hold.

$z^* \circ h$ is solution of the equation (S^r) , that is,

$$(z^* \circ h) \left(\sqrt[p]{\frac{x^p + y^p}{2}} \right)^2 - (z^* \circ h) \left(\sqrt[p]{\frac{x^p - y^p}{2}} \right)^2 = \lambda(z^* \circ h)(x)(z^* \circ h)(y).$$

As in (i), a linear multiplicativity of z^* and semisimplicity imply

$$h \left(\sqrt[p]{\frac{x^p + y^p}{2}} \right)^2 - h \left(\sqrt[p]{\frac{x^p - y^p}{2}} \right)^2 - h(x)h(y) \in \bigcap \{ \ker z^* : z^* \in E^* \} = 0,$$

which means that h satisfies (S^r) . □

As shown in Section 2, the following results are naturally derived from the above theorem.

Corollary 3.2. *Let $(E, \|\cdot\|)$ be a semisimple commutative Banach algebra. Assume that $f, g : \mathbb{R} \rightarrow E$ satisfy the inequality*

$$\|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)g(y)\| \leq \begin{cases} (i) & \varphi(x), \\ (ii) & \varphi(y). \end{cases}$$

Let $z^ \in E^*$ be an arbitrary linear multiplicative functional. Then*

- (i) *if $z^* \circ g$ with $g(0) = 0$ or $f(-x) = -f(x)$ is unbounded, then h satisfies (S^r) ,*
- (ii) *if $z^* \circ g$ with $g(0) = 0$ is unbounded, then g satisfies (S^r) .*

Corollary 3.3. *Let $(E, \|\cdot\|)$ be a semisimple commutative Banach algebra. Assume that $f, g : \mathbb{R} \rightarrow E$ satisfy the inequality*

$$\|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda g(x)f(y)\| \leq \begin{cases} (i) & \varphi(x), \\ (ii) & \varphi(y) \text{ and } \varphi(x). \end{cases}$$

Let $z^ \in E^*$ be an arbitrary linear multiplicative functional. Then*

- (i) *if $z^* \circ f$ is unbounded, then g satisfies (C_λ^r) ,*
- (ii) *if $z^* \circ g$ is unbounded, then g satisfies (C_λ^r) , and f and g satisfy (K_λ^r) and (W_λ^r) .*

Corollary 3.4. *Let $(E, \|\cdot\|)$ be a semisimple commutative Banach algebra. Assume that $f, g : \mathbb{R} \rightarrow E$ satisfy the inequality*

$$\|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda f(x)g(y)\| \leq \begin{cases} (i) & \varphi(y), \\ (ii) & \varphi(x) \text{ and } \varphi(y). \end{cases}$$

Let $z^ \in E^*$ be an arbitrary linear multiplicative functional. Then*

- (i) *if $z^* \circ f$ (f :odd) is unbounded, then g satisfies $(-ff_\lambda^r)$,*
- (ii) *if $z^* \circ g$ (or $z^* \circ f$:odd) is unbounded, then g satisfies $(-ff_\lambda^r)$, and f and g satisfy $(-gf_\lambda^r)$ and $(-fg_\lambda^r)$.*

Corollary 3.5. *Let $(E, \|\cdot\|)$ be a semisimple commutative Banach algebra. Assume that $f : \mathbb{R} \rightarrow E$ satisfy the inequality*

$$\|f(\sqrt[p]{x^p + y^p}) - f(\sqrt[p]{x^p - y^p}) - \lambda f(x)f(y)\| \leq \begin{cases} (i) & \varphi(x), \\ (ii) & \varphi(y), \\ (iii) & \varepsilon. \end{cases}$$

Then either the superposition $z^ \circ f$ (f :odd) is bounded for each linear multiplicative functional $z^* \in E^*$ or f satisfies $(-ff_\lambda^r)$.*

Remark 3.6. As in remark 2.9 of Section 2, stability results to Banach algebras for the functional equations applied $p = 1$ or $\lambda = 2$, $\varphi(x), \varphi(y) = \varepsilon$ are found in Badora [3], Badora and Ger [4], Baker [5], Fassi, et al. [10], Kannappan and Kim [15], Kim [16, 18, 21, 22, 24], and Almahalebi, et al. [2].

Acknowledgments: This work was supported by Kangnam University Research Grant in 2020.

REFERENCES

- [1] J. d'Alembert, *Memoire sur les Principes de Mecanique*, Hist. Acad. Sci. Paris, (1769), 278–286
- [2] M. Almahalebi, R. El Ghali, S. Kabbaj and C. Park, *Superstability of p -radical functional equations related to WilsonKannappanKim functional equations*, Results Math., **76** (2021), <https://doi.org/10.1007/s00025-021-01409-2>.
- [3] R. Badora, *On the stability of cosine functional equation*, Rocznik Naukowo-Dydak. Prace Math., **15** (1998), 1–14.
- [4] R. Badora and R. Ger, *On some trigonometric functional inequalities*, in Functional Equations-Results and Advances, **3** (2002), 3–15.
- [5] J.A. Baker, *The stability of the cosine equation*, Proc. Amer. Math. Soc., **80** (1980), 411–416.
- [6] J.A. Baker, J. Lawrence and F. Zorzitto, *The stability of the equation $f(x + y) = f(x)f(y)$* , Proc. Amer. Math. Soc., **74** (1979), 242–246.
- [7] B. Bouikhalene, E. Elqorachi and J.M. Rassias, *The superstability of d'Alembert's functional equation on the Heisenberg group*, Appl. Math. Lett., **23** (2010), 105–109.
- [8] D.G. Bourgin, *Approximately isometric and multiplicative transformations on continuous function rings*, Duke Math. J., **16** (1949), 385–397.
- [9] P.W. Cholewa, *The stability of the sine equation*, Proc. Amer. Math. Soc., **88** (1983), 631–634.
- [10] Iz. EL-Fassi, S. Kabbaj and G.H. Kim, *Superstability of a Pexider-type trigonometric functional equation in normed space*, Int. J. Math. Anal., **9**(58) (2015), 2839–2848.
- [11] E. Elqorachi and M. Akkouchi, *On Hyers-Ulam stability of the generalized Cauchy and Wilson equations*, Publ. Math. Debrecen, **66** (2005), 283–301.
- [12] M. Eshaghi Gordji and M. Parviz, *On the Hyers-Ulam-Rassias stability of the functional equation $f(\sqrt{x^2 + y^2}) = f(x) + f(y)$* , Nonlinear Funct. Anal. Appl., **14** (2009), 413–420.
- [13] D.H. Hyers, *On the stability of the linear functional equation*, Proc. Nat. Acad. Sci. USA, **27** (1941), 222–224.
- [14] Pl. Kannappan, *Functional Equations and Inequalities with Applications*, Springer, New York, 2009.
- [15] Pl. Kannappan and G.H. Kim, *On the stability of the generalized cosine functional equations*, Ann. Acad. Pedagog. Crac. Stud. Math., **1** (2001), 49–58.
- [16] G.H. Kim, *The stability of the d'Alembert and Jensen type functional equations*, J. Math. Anal. Appl., **325** (2007), 237–248.
- [17] G.H. Kim, *A stability of the generalized sine functional equations*, J. Math. Anal. Appl., **331** (2007), 886–894.
- [18] G.H. Kim, *On the stability of trigonometric functional equations*, Adv. Difference Equ., **2007** (2007), Article ID 90405.

- [19] G.H. Kim, *On the stability of mixed trigonometric functional equations*, Banach J. Math. Anal., **2** (2007), 227–236.
- [20] G.H. Kim, *On the stability of the generalized sine functional equations*, Acta Math. Sinica, **25** (2009), 965–972
- [21] G.H. Kim, *Superstability of some Pexider-type functional equation*, J. Inequal. Appl., **2010** (2010), Article ID 985348. doi:10.1155/2010/985348.
- [22] G.H. Kim, *On the superstability of the pexider type trigonometric functional equation*, J. Inequal. Appl., **2010** (2010), Article ID 897123. doi:10.1155/2010/897123.
- [23] G.H. Kim, *Superstability of the p-radical trigonometric functional equation*, Korean J. Math., **29** (2021), 765–774.
- [24] G.H. Kim, *Superstability of the p-radical functional equations related to Wilson equation and Kim's equation*, Int. J. Nonlinear Anal. Appl., **12** (2021), 571–582.
- [25] G.H. Kim and S.S. Dragomir, *On the the stability of generalized d'Alembert and Jensen functional equation*, Int. J. Math. Math. Sci., **2006** (2006), Article ID 43185.
- [26] P. de Place Friis, *d'Alembert's and Wilson's equations on Lie groups*, Aequationes Math., **67** (2004), 12–25.
- [27] S.M. Ulam, *Problems in Modern Mathematics*, Wiley, New York, 1964.